10th Trigonometry Identities

Evaluate the following:

cot 54°

tan 20"

1. tan 36"

+
cot 70"

2. Sec 50° Sin 40° + Cos 40° Cosec 50°
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10. tan 35° tan 40° tan 45° tan 50° tan 55°

11. tan 7° tan 23° tan 60° tan 67° tan 83°
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12. tan 5° tan 25° tan 30° tan 65° tan 85°

13, cosec (65" +8) —sec(25” — &) —tan(55" — &) +cot(35" +8)

tan 50° +szec 50"
14. cot40” + cosecdn”

+cozd0” cosecsn”

cos? 20° 4+ cog? 70°
15. sin? 557 +sin * 31°

cos? 20% + cos? 700

16, sin* 20" +sin * 70"

+sin 2 64° +cos64° sin 26°

sin 220" +3in * 70" [ sin{ 90" — B)sin N cos(90” — Hcos 8
cos? 20+ cos® 70° tan & cotd

17.

sec{ 90" — &) cosec 8 —tan( 90" — Ficotd + (cos® 35" 4 cos® 557)
18. tan 5" tan 15" tan 45° tan 75" tan 85"

19. Express sin 81° +itan 71% in terms of trigonometric ratios of angles between 0° and

459

20. Express cos 75° + cot 75° in terms of trigonometric ratios of angles between 0° and
45°,
01 |f tan 28 = cot(f + EDj’Whel’e 28 and 8+6

are acute angles, find the value of 8.

22. If A and B are acute angles and sin A = cos B, Prove that A + B = 90°.
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23. If A, B, C are the interior angles of a triangle ABC, show that show

. B+C A
8if1 =Cos—

that 2

I:I f—
cos(30° — &) N

s &

=2
oq 8 cos(90" - 8)

o5 cos(81" +8) =sin(3" - 8)

sin{ 90" — &Y. cos(30" — &) =

26.

1.0

5.0

9.1

13.0

17.2

21.28°

2.2

6.0

10.1

14.2

18.2

2
I+tan” & Answers

3.2
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19. cos 9° + cot 19°
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16. 2

20. sin 15 ° + tan

15°



